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PART-A (F - 9%™)

For New Course

Q.
Q.
Q.
Q.
Q.

No.
No.
No.
No.
No.

mark each (any four)
marks each (any five)
marks each (any two)
marks each (any two)
marks each (any one) .

1 carries 1
2 carries 2
3 carries 3
4 carries 6
5 carries 8

PART-B (¥ - 9)

For New Course

96 / ECON

CRCRCRCRS

No

No.

No
No

No.

mark each (any four)
marks each (any five)
. 8 carries 8 marks each (any two)
. 9 carries 6 marks each (any two)
10 carries 8 marks each (any one)

. 6 carries 1
7 carries 2

......... 1x4 =
......... 2x5 =10
......... 3x2 =
......... 6%x2 =12
.......... 8x1 =
Total =40
......... 1x4 =
......... 2x5=10
......... 3%x2 =
......... 6%x2 =12
......... 8x1 =
Total =40
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PART-A / -9 [ -9 [ Sh-S&NN
(Introductory Macroeconomics )
(BT ST 2957 )
(e idfaea 2IfR57 )

( Y3 @ttt frrarer )

1. Give short answers to any four of the following questions :
1x4=4

wois ficpical BIfabr 2w 53 el fuwl ¢

TN (- BIFTG A0sE Y T wie ¢

Te™ SraRasrar wi=e diFaf 98’ feem 7 o

()  Who is known as the father of Macroeconomics ?
AT weffiwe oo 3 ST oo e
T SfReEE eoe A & AfRfbe?

ofeR -t fowr g1 dRar fafemm e ?
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(i) What are the two sectors studied in ‘two-sector economy’ ?
‘T efRRE SeTife’s ST (F 70/ 44T RIE SNCED 39 232
T8 SLTie s SR (] 775 20e7 KA bl 791 23 2

TR G T ST wEEArETe Je H el S SeEe
SR ?

(iii) Write the full form of FRBM Act, 2003.
FRBM 034, 2000 § 7794¢f ol 574l |
FRBM W13, 2000-93 7}¢f 5t (&TC41 |

FRBM 2T, 2003 1 211 qex@l for |

(iv) “Voluntary unemployment can exist in an economy with
full employment equilibrium.” Write whether this statement
is correct or incorrect.

“sjef T e STy SREIe 2 SLTIe Guae 2oRIFS fmReal e A 1”7
TG0l wm (7 o7 o7l |

“siof &= SRy gl AR 3 SLFIore TRFe [(FE ARFCS
Al |7 B &b wm 77 orem Tl |

H o179 oA IRISIeNTg ST AT o HAdere e el ST
<1 Tifer o i1 e s TRty faR
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(v) In which year the ‘Breeton Woods’ Conference of the United

Nations was held ?
AT G Tup,” ST (T 5T Sigfors (feet ?
AR BT TOH S (@I NI SIS Zeafest 2

STerTs T ‘ol 39’ SIYFTE Hiel AEEAE A SeHH 2

(vi) When the level of effective demand is attained ?

Al Bifen B9 (oAl 2lie 272
A Hifewid W F2 SIfere 2 7
e Tt fommaf wers wree Jee g ?

(vii) NNPpo = NNPyp,— . (Fill in the blank)
To{I7i TS NNP = I&R v NNP— | (071 912 99 7))
TAMN T NNP = AR W@ NNP — | (rZi o/ #¢)

fegomE 3 NNP = SIS s NNP - |
(TG ST 3719 @Teird)
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2. Answer any five of the following questions : 2x5=10

OIS [Rgpicat 2l5br e Tes il ¢

RIS F-crear #ipe 20ee Ted mie ¢

TRTE STraRa<iran Fiar QA e &

(i) Write two differences between direct tax and indirect tax.

HOTF T S 2@FF 99 707 A<y fova |
OTF 9 3R 2I@AFF FEI 715 A1 (& |
oIS TISHT SR W WIS HF BRAT fork |
(i) What do you understand by ‘paradox of thrift’ ?
Freayfirei e 9T 7 g
‘FroarRior SisreReadl 7o) <@1Ce 1 (@I 2
AR TR S TeeT | T ?

(iii) Write one similarity and one difference between capital goods
and intermediate goods.

SEIK | TR SIS NG| B 51 SN 957 ALy forl |
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[ELT] B 3R LS TR G5 AR G G675 AN (ETet |
i~ I AR oK Tersl SR HiTd Hed 3R HF HRET fok |

(iv) Explain the concept of ex-ante investment and ex-post
investment.

repifere R i (2le Rl el 76/ genie e |
areyifeie Rifce g e RSl el 776 < S |

HRUEHR QAR AR AAE @M @I S HAaE! el
e

(v) What are sources of supply of foreign currency in an
economy ?

GEIe G4Fs RO @IS @il S 6 62
G Ts SLITOTS RO @R (S9N COPTE F1 1 2
el B RSEERICRIE R ITRUCICINERS UIRE IR B ReacliE Aty e e | I

(vi) Differentiate between revenue expenditure and capital
expenditure.

JieTZ A S JoT | R NG AL Y€l |
AT A R ] AR T AL (7S |

3T TRET 3T i~ WM ToRa BRI fefe |
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(vii) What do you understand by devaluation of domestic
currency ? Write with an example.

ORI IR SRR JfICeT 6 e 2 Snieseig forl |
TR IR SIREEDIRE I6T00 (I 2 SWRRR (o104l |
TRNIR TEaRf s THRA Feieen q1 i ? fafefesi fax

3. Answer any two of the following questions : 3x2=6
ST [RIgpITe! 751 i e i ¢
TR (F-(FIC 75 ATe TSR Wie 2
TR SreResirEar i A e 2

() In an economy marginal propensity to save is 0.5. What
will be the increase in income if there is a new investment
of Rs. 600 crores ?

IS 2T 2N FeeT 29erel 20z 0.5 | 93 (Faqw 600 &I 5FF
Toe RN S1difos fFe sifwiem aga wize 7@ S 2

G5 SLTIfea 2T AL 26l 261 0.5 | 9ot (Fea 600 &I HIFE
Toe RiNCI SdTifere F© AR To SN % T 2

TEfe1 HAE SR R T ST Se) 0.5 19 sSier@E 600 e
T WA T2 Te age foeif MM A TR 2
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(ii) What is fiscal policy ? Write its two objectives ? 1+2=3
NG TS [F 2 3R 775 Sy 7 |
AR TS F12 @7 7758w e |
TSTR Hredreret /1 2 < /i @ife fow

(iii) How financial deficits can be reduced ? Explain briefly.
Gl 9t (s 13 F7 #1172 53T ¢t =41 |
=f2 AGRe FOIE 77 T @CS 21107 2 FLCEHC| I I |
- ST Hei T2 W 8l 2 g 4 o |

(iv) In the context of national income accounting, analyse the
concept of planned and unplanned change in inventories
with a hypothetical example.

IS 1 SN 2T A9 S[ES! T AR S Svifaiare sl
4[Nl I THIZae GBI FRTS o2 o7l |

GRS R SR 519 205 7S] AR AR 3 AR ARTS ==
glzell GHTo wrIfer SriRRCes MR IR 10l |

TSR 3T AARFEARIE desmd 34 swe faifa Rl fauita Afe
QAR AERitY §E Jreity fafefor aaf gersmeme ssmm for |
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4. Answer any two of the following questions : 6x2=12
OO [RIgpiTel 7o) i e i ¢
TR (F-(IC 75 ATe TSR Wie 2
e SrERaTar G St e e e

() What is balance of payment ? Explain its components.

1+5=6
AR AT©! i 2 TIR BHAMIETIZ At 41 |
AR TS| 1 2 9 SR FIT T |

TEFEH GHHYET 91 2 9fF STUEhrE! 9 d |

(ii) Explain the process of credit creation by commercial banks.

What is money multiplier ? 5+1=6
Jifefen< (@eea el R eifera el 1 | Jal @ofs 52
Jifeifens picER Aol 73R elfem= i SR | 3@l @60T 2

AR T ' SRR GRS wiEt-er see | 3 T sig o |1 2
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(iii) What is aggregate demand ? Write about its components.
1+5=6

e Bifewl [ 2 33 Sotmierza [ &2 |
AT Bifewl F1 2 @7 SAWEPTICER R (ETC |

T fommen /1 2 99 Stesmr g fo )

(iv) Is GDP an indicator of welfare of a nation ? Justify your
answer.

GDP (7% Q2ed FeT14IF 0 26 2 (oK 631 Ifegero! So-p |
GDP & @35 (e FeUiCea Foi 232 (oNE TeEd 3@ wie |

GDP 311 8RR T4 TSiFf fef-eraman =91 =1 2 it Rt e ami

5. Answer any one of the following questions : 8x1=8

O [Tl Gb) 2] Tes usl ¢
IR - 915 2ATH Ted 7S ¢
TMRMH SrIRG<TEr @id SiAEH R 8l

() What is value addition ? Explain the value-added method
of calculating national income. Write an important merit of
this method. 1+6+1=8
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SET) FRCANGH 6 2 SIS O 9l ST NG Amho Gl 1 | 9%
Ao GBI e R fora |

o TG 12 GISTH W SIS AL el i el | 9%
Ao G0 A FR (@A |

ST SNERERT 17 TSR ™ fode Wemaat a8 Seiee ™
T2 96d | 9 STea A TR @1g for |

(ii) Write about the quantitative and qualitative measures used

by the central bank to regulate money supply in an economy.

FHR @S LIS 7T (@i Faget SR a92ia F41 AR
[ WeRI6P SifReTTRS KA o2l |

LTI Y@ (SiaN el TR Sl (% 17 1R 3 I7E0S AR5

R ORI AAfSTI7RTCR REC (=Tl |

Tt Wa a1 Teanf-erame WErah SEAE el 9RaE e foersti
3R AR ST GARRRA e o |
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(iii) Explain the working of investment multiplier with example.
What is backward working of investment multiplier ?

7+1=8

ffcTiel e Sl SwzEerT i 41 | RINEE @i ooyl
o 2

RIS @ SRl SreaerTz i< S | RN @6 s
& 12

WA TR a1 Tfant-2rdt fafef-ersit sree | wremmre TRt
STHETSTR ST 1 ?
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PART-B / 4-9i24 [ 4-9i%t /| @-S&AT
(Indian Economic Development )
(©179F qeafoF T )
(©I1FTed qefoF T )

( YRATR TLETf~er STEIT )

6. Give short answer to any four of the following questions :
1x4=4

©oTd g1 Bifab! 2is b3 e 3l ¢
IR (F-CBICA! BIFo ACsR F<e Ted mis ¢
e SraRasrar e i g’ R € e

() What is ‘marketable surplus’ in the context of agricultural

production ?

ST Gertva e Ry Oge’ e

FRG TAMET (FCa R TFe” 1 2
TS TSg T I A el 31 1 2
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(ii) Write the full form of NCERT.

NCERT F 575 Fi# fo1i |
NCERT-<3 35 ol (104l |

NCERT-f1 &7 7ev@! fer |

(iii) Which Indian company bought the English tea company
‘Tetley’ in 2000 ?

(P SROR @F™ANIT 2000 57© 3CAET BIR (&A1 “Tetley
(CB&1) T SRe 2

(I SIS @71 2000 A ZETIOSF B @i “Tetley ((OGs1)’
T AR ?

e YRASTR AT 2000 AU Seive del wHml ‘Tetley
(Zeelt) ' aracEE ?

(iv) The owner of a saloon is a regular salaried/self-employed/

casual wage labourer. (Choose the correct option)

Q2 (HETR TIPS el CZCR WER (qemcelan /Ficifens / (e
CHTT ©f5 | (% 7% {517 1)
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GG (TR T 2o Wafe @emceidh /=ifers / wiifes
(HTF &S | (%% [R50 ([CR 13)

T S T Siel sie e om / MaeTR forg==e /s 'a i
e | (71 T g’

(v) What is India’s ranking in terms of Human Development

Index, 2023-24 ?
2023-24 © W[ CHI IBIS (Fq© e i Falle 2
2023-24-9 K TFI 5 (g ORCOF Bl I ?

2023-24 379 g SR WA Sere TRar S o1 ?

(vi) Agriculture/Industry/Services sector is the largest
contributor to the National Income of India at present.

(Choose the correct option)

T IS OIS SIS S F/STanisl / PRI 4w (e 8ol
RIIEN (&% 455 K519 541)

JEN I SRR SO S F /81 / Gl 40ea2 F&fEe smis
IEE| (% REF0 ([0 718)
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sTiETet THE YRa sEIR smafan stere/ <ify / fafaers @

I Siife forrmn g | (7 T )
7. Answer any five of the following questions : 2x5=10
©os [Rgpicat 2l5br e Tes il ¢
IR (- Ao AT T WS ¢
MR STrIRIIrar @7 T 2

(i) Write two causes of slow economic growth and re-emergence

of poverty in Pakistan.

AT 29 ST I ST wfRToId 779 ST 76/ FRe fo12i |

BT 2 S0 I G=R MRTeR FsCLIER 710 FIel @A |

Tifer @ TEnt JiE AW fraai g@en v sk St
T S el |
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(ii) Classify the following into renewable and non-renewable

resources .

G RN 7 IFRECN9] SN S [N TS (EeT i eree 31 ¢

RS IR G2 T IFLENS A=A (AT Reree S ¢

TN SRR BEFSTE TR] WIS Tt rE sTer

QI

(a) Tree

(b) Coal
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(c) Iron ore

EICASIE

GIERIated

GR BT

(d) Sea fish

AT e

AT M (YT W2)

GRS |l

(iii) Write two benefits of formal sector employment.

e Q7 fgfea 767 Jfu foral |

iR Weed WIfes 76 ARk et |

TR Wi e Be gers (Trg) for |
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(iv) What do you understand by outsourcing ? Write with an

example.

3fRe8e ezl I [ ol 2 TnigeTz ferall |

32T 226 IO F QAN 2 BHIRIAZ (#1020 |

ARISITEHET AT Sttt | e ? fafef-esi fer |

(v) What are the types of economic system ? Which economic

system did India adopt after independence ? 1+1=2

TS T 2FR (20! [ F 2 Do foime ©re @ sl
T 27 FAET 2

e IRZR dFRLH T F12 FEOR 27 OF© (T LAfeF
TR 2o IRl 2

TeEf-ernR Eif-ermRi IEEHRT AT |77 2 IS SH1E YRasT Je Y&y
el SATSER | ?
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(vi) Write two important achievements of India’s education

sector.

OITeq Wl 1e] 75/ SRy FRFeTe] 14l |

OISR Pl 40ed 7ib Sra-iie) FFeTel (F1eAl |

IRAR Frelies T JF 78 STeE STHarar fer |

(vit) What are the aspects included in ‘agricultural marketing’

process ?

PR Rolam eifgrre & & W seye 222

F Rotol’ elfEce F1 51 s 0o 27 2

* ST BTems ! RIRE-erTe | Ay e WA S ?
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8. Answer any two of the following questions : 3x2=6

©os [Rigpieal 7h1 e Ted Al ¢

TR (F-(FIC 75 ATe TSR Wie 2

TR SrERasEr g+ S e e

() When did the Central Pollution Control Board of India was

established ? Write two functions of this board. 1+2=3

SRS (TR el el sifaw (o oo 1 (et 7 @B sl
701 1 forall |

SR (@R el [T o1 I 1w I TR 2 @3 SR 7l

I T |

qRA3Te T TSI S Seemn SATHReE! sl S STeHM 2 o STTHef

O+ @ for |
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(ii) Match the left and right hand side of the following table :

OoT SIfeTPIR ST I G Nl ¢

6 OIfeiFid AMMF @R THMF (WAl ¢

MR &g A ST HREE! STTel RS ME!

1. Prime Minister A.  Seeds that give large proportion of
ST outputs
SiTeTal Tt TP Tere F1ed o] e
TR Ay K TR TeoAwe F0S 711 1
Tl e fegHl & Siet

2. Gross Domestic Product B. Quantity of goods that can be

5 (7T B imported
(N5 (AT BeeAwe i Ffe 5191 AR #Afie
S e fegen SIS 0 2] ANTR AR
TSI BT Sl fefei
96 / ECON [22]
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3. Quota C.  Chairperson of the Planning

(0T Commission

@l S|fIE SR S
el SRR SN S

foreifia e’ seEfR

4. Land reform measures D. The money value of all the final

O IHI ] goods and services produced
OIS IR I within the economy in one year

T e &% TS bl it Tzge Tesllfre
T S IR AN O (RIS

T

% RER G S 203 Tesifre
] ] RN AN R (R

T

I TETt-2re A f4 S g s
TR S e e SR Fart
i A |
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5.  HYV seeds
T TeAmTH 1S

T AT 9157

e HATEI St

6.  Subsidy
ot

©H HeS

96 / ECON

[24]

Improvements in the field of
agriculture to increase its

productivity

TeAeTIerol e T R 4SS e <]
afe

CeslIaeTIeTol gl Ty PRIE Al 1
Tafe

fegems SEMm oram et fafdem
GEIEIRRSEHIID

The monetary assistance given by
government for production

activities
Teove RS AN 5 fratl @t 2

Tesfive FILE Ty TR (1S3 @l
AR

fog i Tl JreE R e T
L
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(iii) Who is a worker ? Are the following workers — a beggar, a

thief, a smuggler and a gambler ? Why ? 1+2=3

S I @I 2 ToFT1, (OF, (GRR FIAIS], G — G275 2NF
T 2 PR WA |

S I 01 2 (&5, (1, (GRIFRAR], G — @l [ @5 2 w76

MG |

WM H1en W@ 71 ? foari, fawma, faam s e, spE-
SER @I HrewuE ? SieH fefer

(iv) Explain the ‘great leap forward campaign’ of China as

initiated in 1958.

1958 HeT® bl &izel 1 FFYRTe1 J2L G5l S’ 53¢ A<yl 341 |

1958 AlteT Bt 220l Tl WP J2L Tl oA’ A Al

N

1958 HHTEATe =HIHTe TS ‘great leap forward STaf@=mr
g3 9Eq |
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9. Answer any two of the following questions : 6x2=12

©os [Rigpieal 7h1 e Ted Al ¢
TR (F-(IC 75 ATee TSR Wie 2

TR SrERasTEr g S e e

(i) Write a note on the development path of India, China and

Pakistan.

TR, 51 Wi ANfFET o Tame vfiewF K @bt (G fora |
TR, 5 G ANFFIEE Lo Tz s e « 6 Gisl (et |

IR, =, TR TIfeRemf - St i wHr wg for |

(ii) Write two differences between human capital and physical
capital. Discuss the sources of human capital formation.

2+4=6

SR ST S (S0 SETR 757 5112 foTl | 71 e 9/0eTa ST

IO 3T |
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AR AL @R (SIFSF EER 7/5 o19fdT (FT0 | SR o 9100

TR, SIS FC |

g4 B TR TeUR B B BRI for | g5 st i GaErhraEl

G |

(iii) Discuss the importance of credit for rural development.
Write three differences between formal and informal sources

of rural credit. 3+3=6

20T BHTR AT AT LTI 0! SCEAG 1 | 2 Aol SR S
SRIRIT BT fofb) i< fo14l |

21N CFACR T AT AT TS BTG SN | &S e gl
GRR SIDITE B fom5 Atefy (@Al |

A SErTAE OrEE <R THiferE e | MY SRR 99 SR 31y

@ T HRE foR |
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(iv) Write short notes on any two of the following : 3+3=6
o Rl 7519 R 5y (Bl feral ¢
TR (TP 7io7 [ac e TRl (et ¢

e SraRasirar G G Wy for
(a) Import substitution trade policy

i efesm e Fife
i efegien e Fife
AT HIAAE HAN TR Herdred
(b) Role of small-scale industry in Indian economy

TSR TLIfos Fu Sranis g
SIS R SLTITSTe Fu MR o
YRS Taf-ore 3w Srant SR formre
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(c) Condition of agriculture sector of India at the time of

independence
FETOI TS Olos FR Ve O
FIETOR TR SO FRUCST SZ

ISfE TG YRAf 3T @i 9rEi

10. Answer any one of the following questions : 8x1=8

O RIgpITel b1 e[ Tes Wl ¢

I3 (T 910 208F Ted WS ¢

TRMH SrRasrar Fiad QA fmam &

() What is organic farming ? How does it help in sustainable
development ? Write three merits and two limitations of

organic farming. 1+2+5=8

GRS FR 2afs 2 92 ARG T2 TIITS (IS AL (S ?
(e PR oo fofbr 72T S 757 Aare! =7 |
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GRE FR smie T2 @3 Awob 27w TRAG IS ALY I ?
(SR IR 2aion fomfb e 3R 710 A—ae! &l |

Tafermni streme AR Tfern /1 2 o Gif-er 9= "o e Hisi
TSI @A ? Taferi streite Ao wnfefa Haemd Jst ST /-
TammiAET for

(ii) “The threat to India’s environment poses a dichotomy.”
Based on this statement, write an analytical note on the
current environmental situation and problems in India.
What are the factors responsible for land degradation in

India ? 6+2=8

“TReIS SRR ofs SRR e 4fE sz ” @2 Sfew fofes
TITeAF IO AR %! $l AP [ @1 Reses< (G

o7l | O B SR A TR SR 6 6 2
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(iii) Briefly write about — (a) industrial sector reform (b) financial
sector reform and (c) tax reform measures undertaken as

part of liberalization policy of economic reforms, 1991.

3+3+2=8
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